o
(¥

........

o
i

<d cp>p(rad)
[
(6)]

........

-1 0 1 2 3
TP n (PCA to beamline)

o
(¥

< 5 cot(®) >
=
a1

.............................

............................

N

(k=]

(oS LA AR R AR

1 2 3

— 100

o
o

— 15 UI- i_lldl SLE] ((Oar-prrast L=-TTewgeoTIT
—— D :mf(nyilt_sre tthar-| ﬁjasel-new eom
= BN e e
—— D —plxe‘rgPE nerlcpstepz ltbargpﬁasel-newgeom
R 100f il ! !
3 E : : .
= 80k 1 IR
A H : : :
< eofr-{H B -
o) o 1 1 3 1 H
A o Nt sl
20ft- (1A e BRI
O~ (H1H - e |1
~20fr-- it
ey sRR Rl IR HE:
=60k - i i -Er 1T i
—80F gl
.9_100?.|:||||.||||!|||.|||!||||
s Rt s
th A i ] ]
e e ﬁ
o I i T E ]
=3 -2 -1 0 1 2 3

TP n (PCA to beamline)

> 5 " T T "
X o i : N N
A AR i : AL
o SEL LI i : :
\'_ 3:_ :. .Il 1 -
o o 1 b %] : Y
Y, E : 2|} T . .
EUL R T e st s e
off At -t P o
1 I : LRI L
E : H g : b
-2 I T il
_42_ o
Bl LI AT ARIARARAL A i
o 9 : : H . N
T E i i i i i
e 2F{ i A TP BT F 0
3 -2 : .

[f=

0 1 2 3
TP n (PCA to beamline)

[f=

(40 LAy R L AL L

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


